

#### Available online at www.qu.edu.iq/journalcm

#### JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS

ISSN:2521-3504(online) ISSN:2074-0204(print)



# Trigonometric Approximation and $2\pi-P$ eriodic Neural Network Approximation

## Eman S. Bhaya, Sara Saleh Mahdib\*

<sup>a</sup>College of Education, Al-Zahraa University for Women. Email: emanbhaya@alzhraa.edu.iq

<sup>a</sup>Department of Mathematics, College of Education for Pure Sciences, University of Babylon

<sup>b</sup>Department of Mathematics, College of Education for Pure Sciences, University of Babylon. Email: sara.salih638@gmail.com

## **ARTICLE INFO** ABSTRACT Article history: Many articles studied best trigonometric approximation and many researchers worked on the Received: 30 /04/2023 neural network approximation, but no one related the best trigonometric approximation to Rrevised form: 08 /06/2023 neural network approximation. We define trigonometric activation function, then we use it to Accepted: 11 /06/2023 obtain neural network, which we use it as a best approximation for functions in $L_n$ spaces for Available online: 30 /06/2023 0 . That what we shall introduce in our work have.Keywords: Neural approximation, Trigonometric approximation, Best MSC. 41A20 approximation

https://doi.org/10.29304/jqcm.2023.15.2.1254

#### 1. Introduction

In [6, 7, 10, 13] studied best trigonometric approximation using continuous function. In [8, 9, 11] studied the approximation using many types of neural networks. No one relate the neural network to trigonometric polynomial approximation. That is what we do in our work have.

Firstly, let us introduce some basic notations and defines that we need in our work.

Begin with  $T^*$  is the best approximation of f, where  $f: \mathbb{R}^n \to \mathbb{R}$ 

 $I_n^*$  the degree of approximation of f from  $Y_n$  is defined as

\*Corresponding author

Email addresses: sara.salih638@gmail.com

$$I_n^* = \inf_{T \in Y_n} ||f - T||^*, n = 1, 2, \dots$$

The norm of f define as

$$||f||_p = \left(\int_{-\pi}^{\pi} |f(x)|^p dx\right)^{\frac{1}{p}} = \left(\int_{-\pi}^{\pi} \cdots \int_{-\pi}^{\pi} |f(x_1, x_2, \cdots, x_m)|^p dx_1 dx_2 \cdots dx_m\right)^{\frac{1}{p}}.$$

And

 $L_p^*[-\pi,\pi]$  is the space of all  $2\pi-p$  eriodic functions in  $L_p[-\pi,\pi]$ .

The class of all trigonometric polynomials of order at most n denoted by  $Y_n$ .

And

$$G_r = \{f: f^{(r)} \in L_p [-\pi, \pi] \}, \quad r > 0$$

$$\|f\|_{\rho}^{*} = \frac{\left\|f^{(r)}\left(x+h\right) - f^{(r)}\left(x\right)\right\|_{\rho}}{h^{\alpha}}$$

Where:

$$\rho = r + \alpha$$

$$r > 0, \alpha \in (0,1)$$

 $f \in G_r$ .

The class of all trigonometric polynomials in s variables is denoted by  $Y_{n,s}$ , and

$$I_{n,s}^*(f) = \inf_{T \in Y_{n,s}} ||f - T||_s^*.$$

And

$$C_1^*(f) = \frac{1}{2\pi} \int_{-\pi}^{\pi} f(t)e^{-ikt} dt.$$

And

$$C_1^*(\emptyset) = \frac{1}{2\pi} \int_{-\pi}^{\pi} \emptyset(t) e^{i(x-t)} dt.$$

$$w_n(f,x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x-t) dt W_n^*(t) dt.$$

$$W_n^*(t) = \frac{\sin(nt/2) \sin(3nt/2)}{n \sin^2(t/2)}$$

And

 $L_s^*[-\pi,\pi]^s$  is the space of all  $2\pi-periodic$  functions in  $L_s[-\pi,\pi]$  , when  $s\geq 1$  .

For  $f \in L_s^*[-\pi, \pi]$  and  $j \in \mathbb{Z}^s$ ,

$$C_j^*(f) = \frac{1}{(2\pi)^s} \int_{[-\pi,\pi]^s} f(x)e^{-ij\cdot x} dx,$$

$$\pi_{N,n,s}(\emptyset,f,x) = \frac{1}{(2N+1)C_1^*(\emptyset)} \sum_{k=0}^{2N} \sum_{\substack{n \leq i \leq n}} C_i^*(f) \exp\left(\frac{2ik\pi}{2N+1}\right) \emptyset\left(j.x - \frac{2\pi k}{2N+1}\right).$$

The function  $\pi_{N,n,s}(\emptyset,f) \in S_{\emptyset}(2N+1)(2n+1)^s$ , for  $N,n \geq 1$ .

The neural network here has 3-layers: input layer, hidden layer and output layer.

In general, we can define the neural network mathematically as

$$S_{\emptyset,N,s}\left(x\right) = \sum_{k=1}^{N} a_k \, \emptyset\left(w_k.x + b_k\right), with \,\, a_k, b_k \, \in \, \mathbb{R}, w_k \in \, \mathbb{R}^s, 1 \leq k \leq N$$

Where  $\emptyset$  is the activation function and  $\emptyset: \mathbb{R} \to \mathbb{R}$ 

Let us now recall example of activation function

$$\emptyset(x) = (1 + e^{-x})^{-1}$$
 [the squashing function]

We can define the sigmodal functions as

$$\emptyset(x) = 1, \quad if \ x \ge 0$$

$$\emptyset(x) = 0$$
, other wise.

We write  $e_k(x) = \exp(ik.x), k \in \mathbb{Z}^s$ 

The Parseval's identity is

$$||f||_{L_{2(-\pi,\pi)}}^2 = \int_{[-\pi,\pi]} |f(x)|^2 dx = 2\pi \sum_{n=-\infty}^{\infty} |C_n|.$$

Where  $C_n$  is the Fourier coefficients of f are given by

$$C_n = \frac{1}{2\pi} \int_{[-\pi,\pi]} f(x) e^{-inx} dx.$$

And a Whitney extension theorem in  $L_p$  is define as:

If k is non-negative integer and  $k < \alpha < k + 1$ ,  $f \in L_p(\mathbb{R}^n)$  for which the norm

$$||f||_p = \sum_{|j| \le k} ||D^j f(x)||_p \le C \sum_{|j| \le k} ||D^j f(x)||_p.$$

Where  $D^{(j)}$  is the differentiable of functions.

## Lemma 1.1

For  $f \in L_s^*[-\pi,\pi]$ ,  $w_n^*$  is bounded operator

$$w_n^*(f,x) = \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x-t) dt W_n^*(t) dt.$$

**Proof** 

$$= \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x-t) \frac{\sin(nt/2) \sin(3nt/2)}{n \sin^2(t/2)} dt$$

$$\|w_n^*(f,x)\|_p = \left\| \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x-t) \frac{\sin(nt/2) \sin(3nt/2)}{n \sin^2(t/2)} dt,$$

$$= \left( \int_{-\pi}^{\pi} \left| \frac{1}{2\pi} \int_{-\pi}^{\pi} f(x-t) \frac{\sin(nt/2) \sin(3nt/2)}{n \sin^2(t/2)} dt \right|^p dx \right)^{\frac{1}{p}}.$$

Since  $\left|\sin\frac{nt}{2}\right|$  and  $\left|\sin\frac{3nt}{2}\right|$  are bounded and  $\sin\frac{t}{2}$  bounded below by  $\frac{2}{\pi}$ .  $\frac{t}{2}$ .

Thus

$$||w_{n}^{*}(f,x)||_{p} \leq \left(\int_{-\pi}^{\pi} \left(\frac{1}{2n} \int_{-\pi}^{\pi} |f(x-t)| \frac{1}{n\frac{2}{\pi} \frac{|t|}{2}} dt\right)^{p} dx\right)^{\frac{1}{p}}$$

$$= \left(\int_{-\pi}^{\pi} \left(\int_{-\pi}^{\pi} \frac{1}{2|t|n} |f(x-t)| dt\right)^{p} dx\right)^{\frac{1}{p}}$$

$$\leq \left(\int_{-\pi}^{\pi} \left(\int_{-\pi}^{\pi} \frac{1}{2|t|n} |f(x)| dt\right)^{p} dx\right)^{\frac{1}{p}}$$

$$\leq \left(\int_{-\pi}^{\pi} \left(\frac{2\pi}{n \ln \pi} |f(x)|\right)^{p} dx\right)^{\frac{1}{p}}$$

$$= \frac{\pi}{n \ln \pi} \left(\int_{-\pi}^{\pi} |f(x)|^{p} dx\right)^{\frac{1}{p}}$$

$$= \frac{\pi}{n \ln \pi} ||f||_{p} \quad \blacksquare$$

#### Lemma 1.2

$$I_{2n-1}(f)_p \le \|f - w_n^*(f)\|_p \le 2^{p-1}I_n(f)_p. \tag{1}$$

#### **Proof:**

Using definition of  $I_{2n-1}(f)_p$ , the first part of the pnality is clear, then the second part of (1) we have

$$\begin{aligned} \left\| f - w_n^*(f) \right\|_p &= \left\| (f - T) - w_n^*(f - T) \right\|_p \\ &\leq 2^{p-1} (\left\| f - T \right\|_p + \left\| w_n^*(f - T) \right\|_p) \\ &\leq 2^{p-1} (\left\| f - T \right\|_p + \frac{\pi}{2 \ln \pi} \left\| (f - T) \right\|_p) \\ &\leq \pi 2^{p-1} (\left\| f - T \right\|) \\ &= \pi 2^{p-1} I_n(f)_p \quad \blacksquare \end{aligned}$$

## 2. The Main Results

In this section we will define trigonometric approximation and  $2\pi$  – Periodic neural network approximation in  $L_p[-\pi,\pi]$ .

## Proposition 2.1.

Let  $\emptyset \in L_p^*[-\pi, \pi]$  and  $C_1^*(\emptyset) \neq 0$  for any integer  $N \geq 1$ ,

$$\left\| e^i - \frac{1}{(2N+1)C_1^*(\emptyset)} \sum\nolimits_{k=0}^{2N} exp(\frac{2ik\pi}{2N+1}) \emptyset(. - \frac{2\pi k}{2N+1}) \right\|_n \leq \frac{\pi 2^{p-1}}{|C_1^*(\emptyset)|} I_n^*(\emptyset).$$

#### **Proof:**

By the definition of  $C_1^*(\emptyset)$ , we get for  $x \in [-\pi, \pi]$ ,

$$e^{ix} = \frac{1}{2\pi C_1^*(\emptyset)} \int_{-\pi}^{\pi} \emptyset(t) e^{i(x-t)} dt$$

$$=\frac{1}{2\pi C_1^*(\emptyset)}\int_{-\pi}^{\pi} \emptyset(x-t)e^{it}dt.$$

Now, for any  $N \ge 1$ ,

$$\int_{-\pi}^{\pi} \emptyset(x-t)e^{it}dt = \int_{-\pi}^{\pi} w_n^*(\emptyset, x-t)e^{it}dt.$$

As a function of t,  $w_n^*(\emptyset, x-t)e^{it} \in Y_{2n}$ , we evaluate the last integral by using

$$\frac{1}{n+1} \sum\nolimits_{k=0}^{2N} T(\frac{2\pi}{n+1}) \; = \; \frac{1}{2\pi} \int\nolimits_{-\pi}^{\pi} T(t) dt \; , \; \; T \in Y_n$$

We get

$$\begin{split} C_1^*(\emptyset)e^{ix} &= \frac{1}{2\pi} \int_{-\pi}^{\pi} \emptyset(x-t)e^{it}dt \\ &= \frac{1}{2N+1} \sum_{k=0}^{2N} exp(\frac{2i\pi k}{2N+}) w_n^*((\emptyset, (x-\frac{2\pi k}{2N+1})). \end{split}$$

Now, by using Lemma 1.1 and Lemma 1.2, we get

$$\|w^*(f)\|_p \le C \|f\|_p, l_{2N-1}^*(f) \le \|f - w^*(f)\|_p \le \pi 2^{p-1} l_n^*(f)$$

We obtain for all  $x \in [-\pi, \pi]$ 

$$\left\|\frac{1}{2N+1} {\sum}_{k=0}^{2N} exp(\frac{2ik\pi}{2N+1}) w_n^*(\emptyset, (x-\frac{2k\pi}{2N+1})) - \frac{1}{2N+1} {\sum}_{k=0}^{2N} exp(\frac{2ik\pi}{2N+1}) \emptyset(x-\frac{2k\pi}{2N+1}) \right\|_p \leq \pi 2^{p-1} I_n^*(\emptyset) \blacksquare$$

## Theorem 2.2

Let  $s, n, N \ge 1$  be integers and  $T \in Y_{n,s}$ , then

$$\|T - \prod_{N,n,s} (\emptyset,T)\|_{s}^{*} \leq \frac{(2n+1)^{s/2} I_{N}^{*}(\emptyset)}{|C_{1}^{*}(\emptyset)|} \|T\|_{s}^{*}.$$

#### **Proof:**

By proposition 2.1, we get for  $-n \le k \le n$ ,

$$\|e_k - \prod_{N,n,s} (\emptyset, e_k)\|_s^* \le \frac{\pi 2^{p-1} I_N^*(\emptyset)}{|C_1^*(\emptyset)|}$$
 (2)

We note that

$$\prod_{N,n,s}(\emptyset,T) = \sum_{-n< k < n} C_k^*(T) \prod_{N,n,s}(\emptyset,e_k)$$

Hence, by (2) we get

$$\left\|T - \prod_{N,n,s}(\emptyset,T)\right\|_{s}^{*} \leq \frac{\pi 2^{p-1} I_{N}^{*}(\emptyset)}{|C_{1}^{*}(\emptyset)|} \sum\nolimits_{-n \leq k \leq n} |C_{k}^{*}(T)|.$$

Now, we recall the personal identity, which states that

$$\left(\sum\nolimits_{-n \le k \le n} |C_k^*(T)|^2\right)^{1/2} = \left(\frac{1}{(2\pi)^s} \int\limits_{[-\pi,\pi]^s} |T(x)|^2 \, dx\right)^{1/2}$$

Since *T* is polynomial, so

$$\sum_{-n \le k \le n} |C_k^*(T)|^2 = \left(\frac{1}{(2\pi)^s}\right)^{1/p} \left(\int_{[-\pi,\pi]^s} (|T|^p dx)^{1/p}, p < q\right)$$

And

$$\sum_{[-\pi,\pi]^s} (|T|^q)^{1/q} < \sum_{[-\pi,\pi]^s} (|T|^p)^{1/p}$$

So, we obtain

$$\sum_{-n \le k \le n} |C_k^*(T)| \le (2n+1)^{s/p} \left\{ \sum_{-n \le k \le n} |C_k^*(T)|^p \right\}^{1/p}$$

$$= (2n+1)^{s/p} \left\{ \frac{1}{(2\pi)^s} \int_{[-\pi,\pi]} |T(x)|^p \, dx \right\}^{1/p}$$

$$\le (2n+1)^{s/p} ||T||_s^* \blacksquare$$

## Theorem 2.3

Let  $\mathcal{C}_o$  be a set of distinct points in  $[-\pi,\pi]^s$  and  $n\geq 1$  be an integer such that

$$S_{c_o} < \pi/(2 - 3^{s+4}n)$$
.

And there exist numbers  $\{h_{\xi}\}_{\xi\in\mathcal{C}_0}$ 

where  $\left|h_{\xi}\right| \leq c n^{-s}$ ,  $\xi \in \mathcal{C}_o$  then  $T_{n,s}^*$  be defined by

$$T_{n,s}^{*}(f,x) = \sum_{\xi \in \Gamma} h_{\xi} f(\xi) W_{n,s}^{*}(x-\xi), \qquad f \in L_{s}^{*}$$
(3)

And  $T_{n,s}^*(T) = T$  for every  $T \in Y_{n,s}$ .

Also, for  $f \in C_s^*$ ,  $T_{n,s}^*(f) \in Y_{2n-1,s}$  and we have

$$\|T_{n,s}^*(f)\|_s^* \le C\|f\|_s^* \tag{4}$$

$$I_{2n-1,s}^*(f) \le \|f - T_{n,s}^*(f)\|_s^* \le CI_{n,s}^*(f) \tag{5}$$

**Proof:** 

$$T_{n,s}^{*}(f) = \sum_{\xi \in C_{o}} h_{\xi} f(\xi) w_{n,s}^{*}(x - \xi)$$

$$\left\|T_{n,s}^*(f)\right\|_p^p \leq \sum\nolimits_{\xi \in C_o} \left\|h_{\xi}f(\xi)w_{n,s}^*(x-\xi)\right\|_p \ .$$

Let  $f(\xi) = t$ 

$$= \sum_{\xi \in C_o} \left\| \frac{\sin(\frac{nx-1}{2})\sin(\frac{3nx-\xi}{2})}{n\sin^2(\frac{1}{2})} h_{\xi} f(\xi) \right\|_{p}.$$

By using Lemma 1.1, we obtain

$$\|T_{n,s}^*(f)\|_p^p \le \sum_{\xi \in C_0} \frac{\pi}{n \ln \pi} \|h_{\xi} f(\xi)\|_p.$$

Let

$$x - \xi = y$$

$$\xi = x - y$$

$$d\xi = dx$$

Since  $h_{\xi} \leq \frac{1}{n^s}$ , s > 1, so

$$\|T_{n,s}^*(f)\|_p \le C \frac{\pi}{n \ln \pi} \|f\|_p$$
.

Where C is a positive constant.

Using the same lines of Lemma 1.2, we get the Lemma 2.4:

$$I_{2n-1,s}^*(f) \le \|f - T_{n,s}^*(f)\|_c^* \le CI_{n,s}^*(f)$$
.

#### Lemma 2.4

For  $f \in L_p^*[-\pi, \pi]$ , we have  $w_n^* \in Y_{2n-1}$  and

$$I_{2n-1}^*(f) \le ||f - w_n^*(f)||_p^*$$
  
  $\le CI_n^*(f).$ 

#### **Proof:**

Since  $w_n^*(f) \in Y_{2n-1}$ , it is clear that

$$I_{2n-1}^*(f) \le ||f - w_n^*(f)||_p^*$$

If  $T \in Y_n$ , then  $w_n^*(T) = T$  and

$$\begin{aligned} \|f - w_n^*(f)\|_p^* &= \|(f - T) - w_n^*(f - T)\|_p^* \\ &\leq \|f - T^*\|_p^* + \|w_n^*(f - T)\|_p^* \\ &\leq \|\mathcal{C}(f - T)\|_p^* \quad \blacksquare \end{aligned}$$

#### Theorem 2.5

Let  $\emptyset \in L_p^*[-\pi,\pi]$  and  $C_1^*(\emptyset) \neq 0$ . Let  $s,n \geq 1$ , then for any  $f \in L_p^*[-\pi,\pi]$  and  $N \geq 1$ , we have

$$\left\| f - \prod_{N,2n-1,s} (\emptyset, T_{n,s}^*(f)) \right\|_{s}^{*} \le C \left\{ I_{n,s}^{*}(f) + \frac{n^{(s/2)} I_{N}^{*}(\emptyset)}{|C_{1}^{*}(\emptyset)|} \|f\|_{s}^{*} \right\}.$$

#### **Proof:**

By using Proposition 2.1 and Theorem 2.3 we get

$$\left\| f - \prod_{N,2n-1,s} (\emptyset, T_{n,s}^*(f)) \right\|_{s}^{*} \leq \left\| f - T_{n,s}^*(f) \right\|_{s}^{*} + \left\| T_{n,s}^*(f) - \prod_{N,2n-1,s} (\emptyset, T_{n,s}^*(f)) \right\|_{s}^{*}$$

By using Lemma 2.4:

$$\left\| f - \prod_{N,2n-1,s} (\emptyset, T_{n,s}^*(f)) \right\|_p \le C I_{n,s}^*(f) + \frac{4(4n-1)^{s/2} I_N^*(\emptyset)}{|C_1^*(\emptyset)|} \left\| T_{n,s}^*(f) \right\|_s^*.$$

By using Theorem 2.3, we get

$$\left\| f - \prod_{N,2n-1,s} (\emptyset, T_{n,s}^*(f)) \right\|_p \le C \left\{ I_{n,s}^*(f) + \frac{n^{(S/2)} I_N^*(\emptyset)}{|C_1^*(\emptyset)|} \|f\|_s^* \right\} \blacksquare$$

## Lemma 2.6

Let 
$$\emptyset(x) = (1 + e^{-x})^{-1}$$
,

$$\beta(x) = (1 + e^{-(x+1)})^{-1} - \frac{1}{1 + e^{1-x}}$$

Then

$$\|\beta(x)\|_p \le \frac{1}{2\pi} \int_{-p}^{R} \beta(x) e^{ix} dx \qquad \neq 0$$

**Proof:** 

$$\|\beta(x)\|_{p} = \left\| \lim_{R \to \infty} \frac{1}{2\pi} \int_{-R}^{R} \beta(x) e^{ix} dx \right\|_{p}$$

$$\leq \int_{c} \left| \frac{1}{2\pi} \int_{-R}^{R} \beta(x) e^{ix} dx \right| dx .$$

$$|\beta(x)| = \left| \frac{1}{2\pi} \int_{-R}^{R} \left( \frac{1}{1 + e^{-(x+1)}} - \frac{1}{1 + e^{1-x}} \right) e^{ix} dx \right|$$

$$\leq \frac{1}{2\pi} \int_{-R}^{R} \left| \frac{1}{1 + e^{-(x+1)}} - \frac{1}{1 + e^{1-x}} \right| |e^{ix}| dx$$

$$\leq \frac{1}{2\pi} \int_{-R}^{R} \left| \frac{1}{1 + e^{-(x+1)}} - \frac{1}{1 + e^{1-x}} \right| |e^{ix}| dx$$

$$= I_{1} + I_{2}$$

$$I_{1} = \int_{-R}^{1} \left| \frac{1}{1 + e^{-(x+1)}} - \frac{1}{1 + e^{1-x}} \right| |e^{ix}| dx$$

$$\leq \int_{-R}^{1} \left( \frac{1}{2} + \frac{1}{2} \right) |e^{ix}| dx$$

$$= \int_{-R}^{1} |e^{ix}| dx$$

$$= \int_{-R}^{1} |\cos x + i \sin x| dx$$

$$\leq \int_{-R}^{1} \sqrt{\cos^{2}x + \sin^{2}x} dx$$

$$= -1 + R = R - 1$$

$$I_{2} = \int_{-1}^{R} \left| \frac{1}{1 + e^{-(x+1)}} - \frac{1}{1 + e^{1-x}} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2} \right| |e^{ix}| dx$$

$$\leq \int_{-1}^{R} \left| \frac{1}{2} + \frac{1}{2}$$

$$\int_{R}^{R} \left| \frac{1}{1 + e^{-(x+1)}} - \frac{1}{1 + e^{1-x}} \right| \left| e^{ix} \right| dx = I_1 + I_2$$

$$\leq R - 1 + R + 1 = 2R$$

## Lemma 2.7

Let  $\emptyset(x) = (1 + e^{-x})^{-1}$ ,

$$\beta(x) = (1 + e^{-(x+1)})^{-1} - \frac{1}{1 + e^{1-x}}$$

Then

$$S^{[sq]}(x) = \sum_{k \in \mathbb{T}} \beta(x - 2\pi k)$$

#### Proof:

Let  $\epsilon > 0$ , then

$$\left\| \sum_{K \in \mathbb{Z}} \beta(x - 2\pi k) - \sum_{|K| \le H} \beta(x - 2\pi k) \right\|_p \le 2 \left\| \sum_{K \in \mathbb{Z}} \beta(x - 2\pi k) \right\|_p \le 2$$

Since  $\sum_{K \in \mathbb{Z}} \beta(x - 2\pi k)$  is uniformly convergent series, so

$$\left\| S^{[sq]} - \sum_{K \in \mathbb{Z}} \beta(x - 2\pi k) \right\|_{p} \le \epsilon.$$

For a given  $\epsilon > 0$ .

## Example 2.8

Let  $\emptyset(x) = (1 + e^{-x})^{-1}$ .

$$\beta(x) = (1 + e^{-(x+1)})^{-1} - \frac{1}{1 + e^{1-x}}$$

Then  $\beta$  is integrable. The Fourier transform of  $\beta$  can be computed by Contour integration, which clear that

$$\beta(1) = \frac{1}{2\pi} \int_{-R}^{R} \beta(x) e^{ix} dx, \qquad \neq 0$$

We construct a periodization of  $\beta$  by

$$S^{[sq]}(x) = \sum_{k \in \mathbb{Z}} \beta(x - 2\pi k) \tag{6}$$

Since  $\|\beta(x)\|_p \le (e-e^{-1})e^{-|x|}$ , for  $x \in \mathbb{R}$ , the series in (6) converge uniformly in compact subsets of  $\mathbb{R}$  and the function  $S^{[sq]}$  is clearly  $2\pi$  –Periodic, one can compute easily that  $C_1^*(S^{[sq]}) = \hat{\beta}(1) \ne 0$ . There exist  $\alpha > 0$  such that:

$$I_N^*(S^{[sq]}) \le e^{-\alpha N}, \qquad N = 1, 2, \dots$$

Now, let  $f \in L_n[-\pi,\pi]^s$ ,  $f:[-1,1]^s \to \mathbb{R}$ .

According to Whitney extension theorem, there exist an extension of  $f, g: [-4,4]^s \to \mathbb{R}$ , such that

$$\sum_{0 \leq j \leq s} \left\| D^j g(x) \right\|_p \leq C \sum_{0 \leq j \leq s} \left\| D^j f(x) \right\|_p.$$

Now, let  $\Psi \in L_p[-\pi,\pi]^s$ , such that

$$\Psi(x) = \begin{cases} 1, & \text{if } x \in [-1,1]^s \\ 0, & \text{if } x \text{ outside } \left[-\frac{\pi}{2}, \frac{\pi}{2}\right]^s \end{cases}$$

Then, the function  $\Psi_g$  has the properties that  $\Psi(x)g(x)=f(x)$ , for  $x\in[-1,1]^s$  and

$$\sum_{0 \le j \le s} \|D^{j}(\Psi_{g})(x)\|_{p} \le C \sum_{0 \le j \le s} \|D^{j}f(x)\|_{p}$$

Further, since  $\Psi(x)g(x)=0$  outside  $\left[-\frac{\pi}{2},\frac{\pi}{2}\right]^s$ , we may extend  $\Psi_g$  as a function on  $\mathbb{R}^s$  that is  $2\pi$  –Periodic in each of its variables. Denoting this extension by  $f^*, f^*(x)=f(x), x\in [-1,1]^s$  and

$$\sum_{j=1}^{s} \left\| D_{j}^{s} f^{*}, \right\|_{\dot{q}}^{*} \leq C \sum_{0 \leq j \leq s} \left\| D^{j} f(x) \right\|_{p}, \qquad 0 < \dot{q}, p < 1$$

By using Theorem (2.5) and theorem [let  $r \ge 1$  be an integer, for integer  $n \ge 1$  and  $f \in L_s^*$ , we have  $I_{n,s}^*(f) \le C \sum_{j=1}^s \|D_j^r f\|_{\dot{a}}^*$ ].

And taking

$$E = \frac{(r+s)/2}{a} \log n$$

We obtain that

$$\begin{split} \left\| f(x) - \beta_{N,2n-1,s}(S^{[sq]}, T_{n,s}^*(f^*)), x \right\|_p &\leq \left\| f^* - \beta_{N,2n-1,s}(S^{[sq]}, T_{n,s}^*(f^*)) \right\|_{\dot{q}}^* \\ &\leq C(\dot{q}) \left\{ I_{n,s}^*(f^*) + \frac{n^{S/2} I_N^* S^{[sq]}}{|C_1^*(S^{[sq]})|} \| f^* \|_{\dot{q}}^* \right\} \\ &\leq C(\dot{q}) (n^{-r} + n^{S/2} e^{-\alpha n}) \sum_{0 \leq j \leq s} \left\| D^j f(x) \right\|_p \\ &\leq C n^{-s} \sum_{2 \leq l \leq s} \left\| D^j f(x) \right\|_p \end{split}$$

$$(7)$$

We observe that

$$\left\| S^{[sq]}(x) - \sum_{|K| \ge H} \beta(x - 2\pi k) \right\|_{P} \le Ce^{-2\prod(H - |x|)}, \quad x \in \mathbb{R}: f$$

If we choose H=2n and replace each ocurrence of  $S^{[sq]}(j.x-\frac{(2\pi k)}{(2N+1)})$  in  $\prod_{N,2n-1,s}(S^{[sq]},T_{n,s}^*(f^*),x)$  by its partial sum, we get a network V(f) having  $cn^{s+1}$  neurons. Using the proof of Theorem 2.2, we can proof that

$$\left\| \prod_{N,2n-1,s} (S^{[sq]}, T^*_{n,s}(f^*), x) - V(f,x) \right\|_p \le C n^{s/2} e^{c'/n} \le C_2 e^{-C_3 n}$$

Thus, (7) leads to a network V(f) with  $n^{s+1}$  neurons such that:

$$||f(x) - V(f, x)||_p \le Cn^{-s} \sum_{0 \le j \le s} ||D^j f(x)||_p.$$

## 3. Conclusions

We define a new type of neural network such as trigonometric neural network. Then, we using it to approximate functions in  $L_p$  quasi normed space for 0 . This paper shows that we relate the neural network to trigonometric polynomial approximation.

This leads to that our approximation in this neural network is strong.

#### References

- [1] R. DeVore, R. Howard and C.A. Micchelli, "Optimal non-linear approximation," manuscription mathematics, vol 63, (1989), pp. 469-478.
- [2] R.B. Holmes, "Geometric functional analysis and its applications," springer -Verlag, New York, (1975).
- [3] G.G. Lorentz, "Approximation of functions," Holt, Rine Hart, Winston, New York, (1966).
- [4] H.N. NHASKAR, "Neural networks for optimal approximation of smooth and analytic functions," neural computation, vol 8, (1996), pp. 164-177.
- [5] H.N. MHASKAR and C.A. Micchelli, "Degree of approximation by neural and translation networks with a single hidden layer," Advances in Applied Mathematics, vol 16, (1995), pp. 151-183.
- [6] S. M. Aboud and E. S. Bhaya, "Approximation of Fourier series in terms of functions in Lp-Spaces," International Journal of Nonlinear Analysis and Applications, vol 12, (2021), pp. 897-911.
- [7] H. A. Almurieb and E. S. Bhaya, "Best neural simultaneous approximation," Indonesian Journal of Electrical Engineering and Computer Science, vol 20, (2020), pp. 1584-1590.
- [8] H. A. Almurieb and E. S. Bhaya, "SoftMax neural best approximation," in IOP Conference Series: Materials Science and Engineering, Karbala, Iraq, vol 871, (2020), 012040: IOP Publishing.
- [9] E. Bhaya and O. Al-sammak, "Approximation by Regular Neural Networks in Terms of Dunkl Transform," Research Journal of Applied Sciences, vol 11, (2016), pp. 833-941.
- [10] E. S. Bhaya and Z. H. Abd Al-Sadaa, "Trigonometric Neural Networks Lp, p< 1 Approximation" in *Journal of Physics: Conference Series, Iraq*, vol 1591, (2020), 012060: IOP Publishing.
- [11] E. S. Bhaya and O. A. Al-Sammak, "Radial Basis Functions Neural Networks Convolution Approximation," Journal of Engineering and Applied Sciences, vol 13, (2018), pp. 8153 - 8158.
- [12] E. S. Bhaya and Z. A. Sharba, "L\_p\_ approximation by ReLU neural networks," Karbala International Journal of Modern Science, vol 6, (2020), pp. 414e9
- [13] H. N. Kazem and E. S. Bhaya, "Finite fourier coefficients is best approximation to f∈ L(P,α,β)," Journal of Advanced Research in Dynamical and Control Systems, vol 12, (2020), pp. 193-199.